£ § = 247

BAKRARIJIFLUE ¢100 FR=13

I £ & : Z=MEKEHGREIS
L=|107.4 107.4 m
EX ik - sHiE 4 2 Hi ER MERER " &
A1 H
EE 20 20 =X 5.00 m 100 100 m
. H m m
vy E WIERS 1T K
z 1 3.00 m 3 3 m
EE &t 21 K 103 103 m |[7vroris
90° 1& 0.61 m m
45° 8 8 @ 0.49 m 3.92 392 m
EF Ry K (F%) ¢ 100
22° 1/2 & 0.39 m m
11° 1/4 1& 0.49 m m
EFF—X (M%) @ 100%75 1 1 @& 0.50 m 0.5 0.5 m
HEESE EREmatm sy | BREEEE| 4.42 4.42 m
EFV 47y k ¢ 100 &
HPPE &
AAZANLVY Y k| $100
HPPE x DCIP 2 2 @&
AH=HIiE ¢ 100 DCIP 2 2 @&
A W= HhILEEIRE | ¢ 100 DCIP 1 1 @& # R4
AH=hIILEERIRIEREG | d 100 DCIP 1 1 @& R
HAT—Hh— JKiEA 9 9 @
ZTOMEE ZTOMEESER g | ZTOMER m
BIER 107. 42 107.4 m
BT —7 W=50mm 107.4 m
HEE— b+ W=400mm 107.4 m
FHBE g
i EESi+Z 01 107.4 m
YT RATE HPPE 2 2 »FR
YT RATE DCIP 1 1 &
_ 104 28 28 4R
MEEAT ¢ 100 -
20y 1 1 4»F
HPPE 2 2 R
AHhZHhIBFT ¢ 100
DCIP 4 4 HFR
. HPPE =
U T (BEERE) ¢ 100
DCIP 1 1 0O
100 1.0 1.0
B EWET ¢
m
RYEwv g 1 1 R
Or—F 42974 v—%E 107.4 m
BT —THRE 107.4 m
B — hRE 107.4 m
HBRERE
HINEER  |BARBRI 107.42 < 500m 022 g
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I %40
EXKARVIFLUE ¢75 #=013
I = 4 EMEKEMEBEIS
L=| 9.0 9.0 m
&5 ik - sHiE 2 it JI23 ARER " &
EE 1 1 =X 5.00 m 5 5 m
T — B 1 - 1.86 m 1.86 1.86 m
z m m
EE At 2 X 6.86 6.86 m
90° & 0.54 m m
EF RS K () 75 45° 2 2 & 0.48 m 0.96 0.96 m
22° 1/2 & 0.38 m m
11° 1/4 & 0.36 m m
EFF—X (%) ¢ 100 x 75 & 0.40 m 0.4 0.4 m
HEESE ERERaEm sy | EMEEER| 1.36 .36 m
it
EFVoT v bk ¢ 75 1 1 @&
YN -MEYI S 75 PEfEOft 1 1 # 0.78 m 0.78 0.78 m
H=0.7 1 1 @&
R £ FREX 25 H=0.9 &
H=1.2 &
AAZANVTY |15 HPPE @
HPPE x DCIP 1 1 @&
AH=HILiIE ¢ 75 HPPE @
K 1 1 @& BL:EEE Y
A< —h— KEA 2 2 @&
D& ZDftaiEA BT | TOMIER| 0.78 0.7 m
BIER 9 9 m
BT —7 W=50mm 9.0
B — b+ W=400mm 9.0 m
FHE it
ML EEG+T O 8.2 m
YK T BI4E HPPE 1 1 #m
BEEAT 675 1ns * 4 7
20 1 1 #fr
ANZHLBET  |@75 HPPE 1 1 7#
DCIP 2 2 »FR
TR ET 675 1 1 #®r
REFZET 25 H=0.7 1 1 #®r
U T (BEEXE) 675 DGIP 1 1 0
B ERET 675 0.5 0.5 m
Oy —F 1 T4 v—RE 9.0 m |#HI#
BT THRE 9.0 m
HER S — MRE 9.0 m
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HFIRAERRETE oo 2]
8 Al & FHEE M= | B
Astl iR
t=(15cm  232.84+0 2328 230[{m
AsZ|FHY
t=(10cm  69.85+0 69.9 70{m2
AsiEH
DID#h X 4 DT4t 349 35 4|lm3
AsfiL5y
BRIEREE 2.35t/m3 35%2.35 8.2 slt
fiE &l
BHO.28 61.26 61.3 61[(m3
HR (F)
BHO0.28 29.82 - 1.49 28.3 28|m3
BR(FAR)
RC-40 BH0.28 10.48 10.5 11|m3
5% &K
DIDih X #& DT4t 61.3 61|m3
it
Ht =AM 61.3 61(m3
TEigiE
RC-40 t=20cm 69.9 70Im2
LB
M-25 t=12¢cm 69.9 70|m2
RE18
B#As13 LA mE t=0.03m  69.85 69.9 70[{m2




AFEKEMREISE

=P
TISHE(ERE HPPE 100-75
- ; Il BRAKEER et HRE e g AsHUR a4 aos-mroy . HR
wER | ER (SEE| = 1 maIR o == 1 = , adhidl g
E# As Co i) RELX | BB As 4N sy HEHE w REX| BA i iR s s B RELX | BA
W L m P t/m3 | t/m3 H H H H w w w w w w w m m2 m2 m2 v v v v
#100 | 10742 o005| 2 2.35 08| o043 015] o060 060| 060 060 21484 6445 5672 | 27.71 9.67
75 900 o005 2 2.35 084| o039 015] o060 060| 060 060 1800] 540 454 211 0.81
B 116.42 23284 | 69.85 61.26 | 29.82 10.48
g3
$100 L= 10742 m 0.13 * 0.13 * 314 - 4 * 10742 = 143 m3
®75 L= 900 m 0.09 * 0.09 * 314 - 4 * 9 = 006 m3
g 149 m3
AsiEH
69.85 m2 * 005 = 349 m3
m2 * 003 = m3

Hi 69.85 m2 349 m3



#=15

HBKEMBRBHERE EMRAEHREIS
1 2 3 4 5
g 8 OB |BAL| A | mg | #A% o7z | £RE | £RE
*%
A—2—1F
WAKEOR 20 | #50 | 40 | @50 | #30
$100 x 20 | {& 1 1
. $100 x 30 | o 1 1
/\m PAN
vl 5 YRILHKEE (HPPE) 6100 x 40 | # 1 "
$100 x 50 | # 2 1 1
20 m 1.0 1.0
$30 " 5.0 5.0
E#’—'.
BE PP ®40 " 50 50
¢ 50 " 15 1.0 05
20 & 1 1
e 30 " 1 1
#—5—H @40 " 1 1
¢ 50 " 2 1 1
" N 20 & 1 1
ﬁ PEf##F Jirybk 550 . 2 " "
# _ ®30 & 2 2
EIExA (FR) 540 > 2 .
. e ¢ 20 & 1 1
T
1 ATLIE ¢ 50 " 2 1 1
" . $30 & 1 1
TS#F HIF vy 540 > ] .
N e ¢ 30 & 1 1
SKX#tF )4y (PP X HI) 640 » ] :
N Ay REVRIL $30 & 1 1
FIVT KR | Ea g0 540 p 1 1
RE INILTRER 15 H=0.7| & 2 1 1
Al —h— JKXEFH ¢ 47.5% 167mm | 147.6 kHz & 5 1 1 1 1 1
BT —7 m 12.5
HERERRL—k |W=400 m 12.5
@100 x 20 | #FR 1 1
. $100 x 30 | # 1 1
PAN A
DIKEAT HPPEF 5100 x a0 | # ] :
$100 X 50 | o 2 1 1
20 m 1.0 1.0
- ¢ 30 " 5.0 5.0
ot A
SRS PP ®40 " 50 50
50 " 1.5 1.0 05
20 ] 4 4
" ¢ 30 " 3 3
PEf#F 540 - 3 3
$50 " 8 4 4
35 @20 O
B gz TSHE 30 ’ 2 2
# @40 " 2 2
¢ 50 "
@20 O
w ¢ 30 " 4 4
k=t
EMTF 540 p 4 2
¢ 50 "
20 Ldiil
N, 30 " 1 1
0 45
kBT [/NLTE 540 m ] ;
¢ 50 "
FEEMNT INVITRE 15 il 2 1 1
BT —7 W=400 HIf m 12.5 1.0 1.0 5.0 05 5.0
BB RTL—N |W=400 HIf m 12.5 1.0 1.0 5.0 05 5.0
=749 4% — MI m 12.5 1.0 1.0 5.0 0.5 5.0
As m 10.5 1.0 1.0 40 05 40
& m
: -
As m 1.0 1.0
B xmE w10 s




5 =
3 = =
: s oS S E BEMBKEMEREISE "
| Al H = HEE | #1 E | B
Ast#
t=<15cm 23 +0 23.0 23|m
AsFIEFHRLY
t=<10cm 6.9 +0 6.9 7|m2
AsE
DIDHX AL DT4t 0.35 0.4 0.4|m3
AsfiL 5>
2.35t/m3 0.4 * 2.35 0.9 1t
izl
BHO.13 6.11 6.1 6|m3
BE ()
BHO.13 2.71 - 0.02 2.7 3|m3
BRE&EEL)
BHO.13 0.3 0.3|m3
BREAR)
RC-40 BHO.13 0.95 1 1|m3
5% L E K
DID#t X %L DT2t 6.0-0.3/0.9 57 6|m3
BBith
K2 At 5.7 6|m3
TR
RC40-0 t= 0.20m 6.9 7|m2
L EREE
M25-0 t= 0.12m 6.9 7|m2
R#EIR
BEAS13 FLEIERAAAL t=0.03m 6.3 6.9 7|m2




HKERRBHERE

&)
TTIHEERR EMRKEHRETE ©KE
] | o | ErpmEE |, , ERE HER FHE ASTRIR ) R
w | R |WEE| —— EHIR —— = _ - — : L)
E31 As Co | REL| BA As Rl B (REL| BB | UE | BUR | RELX| BR
BT E L m N t/m3 t/m3 H H H H w w W w W m m2 \% \ \% \
HAS 10.50 0.05 2 2.35 0.81 0.36 0.15 0.60 0.60 0.60 0.60 ] 21.00 6.30 5.10 2.27 0.95
EAS 1.00 0.05 2 2.35 0.81 0.36 0.15 0.60 0.60 0.60 0.60 2.00 0.60 0.49 0.22
Rt 1.00 2.35 0.86 0.36 0.50 0.60 0.60 0.60 0.52 0.22 0.30
H 12.50 23.00 6.90 6.11 2.71 0.30 0.95
EER
¢ 50 L= 1.50 m 0.06 * 0.06 * 3.14 - 4 * 1.5 = m3
¢ 40 L= 500 m 0.05 * 0.05 * 3.14 - 4 * 5 = 0.01 m3
¢ 30 L= 500 m 0.04 * 0.04 * 3.14 - 4 * 5 = 0.01 m3
¢ 20 L= 1.00 m 0.03 * 0.03 * 3.14 - 4 * 1 = m3

m3




